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B GRS ECHEREE
FRH2IEE | FRAEE | TH2IEE | FRAEE
B 3,01 7,488;; 2,988,650 42,292 44,117
SELTF 8,906 8,881 81 124
5 AREZfIER 30 .30 1.9, 2.8
% SFHEAEE 17200 - 1,659 24% 24
) AT e = " 06 0.6 0.6 0.6
| FEE | o6 o5l 105 145
 FEHE 35 35| 25 34
TELT 3.793 3,463 55 52
FENE - 1.3 1.2 1.3% 12
5 7Eiﬂzﬁ?ﬂ 823 803 121 12
ﬁ Fﬁ%ﬂi 0.3 0.3[ 03, 0.3
FrEEE 4676 4266 6‘71 64
 mEME | 15 4 16 15
ikl 5.1 5.0 41 49
—#aEE 18 1.2 1.6 1.2
HREME 6.7 6.1 57 6.1
BT 6.5 6.0 5.5 6.0

ER2IEE 2XEEHEe FREBERORE
S HIAT 10,6264+106=10,732 10,732.-3,059,780=3.5.1,000

EHHBA 4616+67=4,683  4,683.73,059,780=1.5.71,000

BEpE 35+15+16=6.6.-1,000
FR4AFEE 2EKEZRE AREEEXOHEE
SHAFRT 10,540+148=10,688 10,688.-°3,032,767=3.5.-1,000

RERSAGT 4,266+64=4330 4,330.-3,032,767=1.4.-1,000

FHEBE 35+1.44+12=6.1.71,000
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